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EXAMINATION 2018, GRADE 8 Model Paper
MATHEMATICS PART - A (Objective Type)

Part-A: 48 Marks, Part-B: 52 Marks, Total: 100 Marks

Ll S
Student Name Total Marks MCQs
(In Capitals)
Signature of
Examiner
Roll Number
(In Figures) i i Signature of Head
Examiner

. . For Official Use Only
Signature of Dy. Superintendent (CNIC) ---==========-mcuu-x

General Instructions: e ligds”
1) Read carefully and attempt all questions. 4 .:,myrm,w:"g:./i (1

2) Encircle the correct option of each of Multiple Choice Questions ( MCQs) as shown in the
example given below.

VWS E S 2 S ot 26 L8021 2
Example: x8 x x? = X8 x x2= i
a) X! b) x8 c) X8 x1°
3) Use black/blue ink for writingUse of lead pencil and calculator is not allowed.
e 2§ L }J;@C,lﬁé_q/ Jegdendl /dedl £ 24 (3
4) If more than one options are encircled in a question, no mark will be given.
_(ngg:uﬁ’/@ﬁﬂéo}m)’zayzuyc_.ﬁ u.‘.'dlr’Lf(ﬁ G4
Total Marks: 48 Part-A(MCQs) Total Time: 1 hour 15 minutes
Instructions: Thirty two (32) Multiple Choice Questions (MCQs) are given in this part. Each question
carries 1.5 marks. A 15y /z-wie;amm}r?m y-a (32)J3u:,e>m:.:,y4

Questions iy Rough Work J 41
Q. No.1. In the given Venn diagram, the shaded region represents:

_q_t'//:lﬁ/?/l::,vufdéldﬁéfd;

a)Au(BuC) U
D)AN(BNC) aﬂn
c)AU(BNC) ﬁ
d)AN(BUC)

Q.No.2.  Square of 0.01 is: - &,¥0.01
a) 0.01 b) 0.001 €)0.0001 d)0.00001
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Rough Work Jf 415

Q. No.3.

Q. No.4.

Q. No.5.

Q. No.6.

Q.No.7.

Q. No.8.

Q. No.9.

Q. No.10.

Q. No.11.

Q. No.12.

The set of rational and irrational numbers is called:

e bl L P P
a) set of real numbers ol 3
b) set of whole numbers _aﬂmu‘(
c) set of integers &,g,m.é‘
d) set of natural numbersx6sel .45
Cube of a negative number is always a number.
< byou —.{l,ﬁ:ﬂJKmé’
a) Positive =% b) Negative ¢ c) whole J‘( d) Prime »*
\J576 =
a) 12 b) 24 c) 25 d) 96
343 is cube of: feosl¥U/343
a) 6 b) 7 c)8 d)9

36 students stand in rows in such a way that the number of rows
is equal to the number of students in a row. How many students
are there in each row?

AE”..Q_:‘_;I,JJuulE,' d.};uj,{wd‘&luf/@ugfu?'&n(_/‘{b)u’lufg)u@{w36
S
a) 6 b) 7 c)8 d) 9
(111)2 + (10)2=
a) (1001); [ b)(1011)2,.. c) (1100),  'd) (1101).
(182)s — (100)2 =
a) 29 b) 32 c) 36 d) 38

40 men complete a work in 10 days. In how many days 10 men
will complete the same work?

e Lyt H ruhE g0 ot H 10 6120
a) 10 b) 20 c) 30 d) 40
The market price of a computer is Rs. 10000. Its sale price is
Rs. 8000, the percentage discount given to the customer is:
G LAt &S L AT 230} 28000 <t g-42s10000 28 U2 S o
a) 10% b) 15% c) 18% d) 20%
Ahmad got a loan from a bank for 2 years. After two years the

principal amount of Rs. 100,000 becomes Rs. 150,000. The
annual rate of markup is:

St nd 3150000 421100000 f s f ot Y P S L Lo 20 Gt

LA
a) 10% b) 20% c) 25% d) 50%
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Q. No.13.

Q. No.14.
Q. No.15.
Q. No.16.

Q. No.17.

Q. No.18.

Q. No.19.

Q. No.20.

Q. No.21.

Q. No.22.

Q. No.23.

How many Turkish Liras are in Rs. 1683?
(1 Turkish Lira =Rs. 33)

(4233 =1 JS710 st A e g2 1683

a) 15 b) 33 c) 51 d) 56
(Bx+4)+ (-11x +5) =

a) 19x + 9 b) 12x -9 C) 3x+9 d) -3x+9
(10a’ + 8b?) — (8a’ —9b?) =

a)2a’ +17b%> b)-2a’ +17b% c)2a’—b?> d)-2a’—b?
(x2—14x+45) = (x-5)=

a)Xx—5 b)x+5 c)x-9 dx+9

The price of four pencils is equal to the price of one notebook. If
the price of one pencil is x and the price of one notebook is y then
the equation for the statement is written as:

eIy d S QELintn X d S SF LS ig L d St Sy
_wﬂu‘.auu;{
dxy=4
-« A aZ+ab — abc

ayxy=4 b) 4x =y C)x+y=4
Factorization of a?+ab — abc is:

a) a(a’+ab — bc) b) a(a+b — abc)
c) a(a+b — abc) d) a(a+b — bc)

1
If Xx+— =3, then the value of x° +i3 is:
X X

] 1. 1
ceedd X =7 x+—==3
X X

a) 9 b) 18 c) 23 d) 27
x2+i2=a2+2
x+1=t
X

By eliminating x from above equations, we get :

b S i SBLS X e Sty
b)a?—t?= 4
dt?-2=a

aQ)a’-t?=—-4
c)a’-2=t

Factorization of h?-5h+2h-10 is: -4 h?-5h+2h-10
a) (h—=2)(h+5)b) (h—2)(h=5) c)(h+2)(h+5)d)(h+2)(h-5)

Which of the following simultaneous linear equations have the

solution set {(1,-1)} e AU DYer S EUTslast A G s L5 ol Ut

a) 2x-y=3 b) x+y=2
X+y=3 3X-y=2

C) 2x-y=3 d) 2x+y=3
X-y=2 3x+y=2

-4 4 a>- dab+4b’- 81
b) (a+ b +9)(a—b - 9)
d) (2a—b+9)(2a—b-9)

Factorization of a2— 4ab+4b2— 81 is:
a) (a—2b+9)(a — 2b+9)
c)(a-2b-9)(a-2b+9)
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Q. No.24.

Q. No.25.

Q. No.26.

Q. No.27.

Q. No.28.

Q. No.29.

Q. No.30.

Q. No.31.

Q. No.32.

If height of a conical tent is 6 metre and radius of its base is 8 metre,
then its curved surface area will be:

..l(n,.?;(i’fJu’l;n}'fSJI:/KQIG'LJIAI/‘{GU'AJQ.J’)}u{l)’l

a) 48m m? b)60xm? ¢)64nm?  d)80mm?
In the rectangle given below, the length of diagonal is:
U S FHg
a) 15 cm b) 21 cm y C
c) 42 cm d) 108 cm 9em
A 12em B

In the given parallelogram, the measure of angle x is:
Pyt x,,uui'Cu‘nmd)n?Gfd;
a) 40° S R

b) 50° N/
c) 130°
d) 230° (7

P Q
Number of vertices of a hexagon is: —e G IS urL g
a)3 b) 4 c)5 d)6
In the given regular octagon, measure of angle x is:

..9/!43“,{ X,:l]ufu} /"A éf $
a) 108°
h) 120°
c) 180°
d) 135°

The radius of a spherical tank is 9 metres, its volume is:
-‘aﬁ Ku@d}/( L1729
a) 108mm*®  b) 7297m®  ¢) 927mm®  d) 9727rm3
The surface area of a sphere is 5544cm?, its radius is:
e U 5544Cm? F KL S/ L
a) 21cm b) 22 cm c) 42 cm d) 98 cm

The marks obtained by 8 students in a Mathematics test are
30,25,21,30,13,25,21,25. The mode of the data is:

<o bl3ly$30:252130413252125 o S P bt L (P10 48

a) 13 b) 21 c) 25 d) 30
X 0 1 2 3 4
f 3 11 18 7 3
x 0 11 36 21 12

In the frequency table given above, Z fx is:

- > x u.‘.'d;,«gd:ﬂZd,:/,;l
a) 10 b) 36 c) 42 d) 80
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